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The following reading were taken with a dumpy level (i) when the
instrument is midway between two pegs A and B, 100 mts apart. The
staff reading on A = 3.345 m. The staff reading on B = 2.025 m (ii) When
the instrument is kept very near A. The staff reading on A = 2.950 m.

The staff reading on B = 2.000 m. Is the instrument in adjustment or not?.

When the instrument is very near to A, What should be the correct
reading on staff B? (16)

An Embankment is to be formed with its center line on the ground
sloping upwards at 1 in 20. If the formation width is 12 m and if the
formation heights at the beginning, middle and end of the embankment
are 6m, 4.5 m and 3 m respectively at intervals of 30 m and the side slope
is 2 in 1. Find the volume of earthwork by (i) prismoidal rule,
(i1) trapezoidal rule. (16)

Or

The width at formation of a certain road is 10 m and the side slopes of 1
in 1 in cut and 1 in 2 in fill. The original ground has a cross fall of 1 in 4.
If the depth of excavations at the centre lines of the two sections 40 m
apart are 0.3 m and 0.8 m respectively, find the volumes of cut and fill
over this length. (16)

A theodolite was setup at a distance of 180m from a light house and the
angle of elevation to its top and depression to its base were observed as
22°45' and 1°12' respectively. The reading on a staff held on B.M. of R.L.
175.590 m was 1.85 m with line of collimation horizontal. Calculate

(i) The height of light house
(i) The R.L of top. (16)

Or

(@) A tachometer is set up at an intermediate point on a traverse
course PQ and the following observations are made on a vertically
held staff.

Staff station Vertical angle Staffintercept Axial hair reading

P 8°36' 1 2.35 2.105
Q 6°6' 2.055 1.895

The instrument is fitted with an anallatic lens with multiplicative
constant 100. Compute the length of PQ and reduced level of Q, if
that of P being 321.5 m. : (10)

(i) Two distances of 20 m and 100 m were accurately measured out and
the intercepts on the staff between the outer stadia webs were
0.916 m at the former distance and 0.996 m at the later. Calculate
the tachometric constant.




